

SEABROOK - HAMPTON

15904

X-A001(026)

PROJECT: STATE PROJECT NUMBER:	SEABROOK - HAMPTON 15904	Awarded To:	SPS NEW ENGLAND, INC 98 ELM STREET		
FED. PROJECT NUMBER:	X-A001(026)		SALISBURY, MA 01952		
DATE BIDS OPEN:	December 14, 2023,				
SCOPE OF WORK:	Reconstruction of Red List bridge carrying NH 1A over Hampton River(Br#235/025) Debt Serv.Proj#42710	Amount:	\$107,559,567.35	Certified by:	Director of Project Development
COMPLETION DATE:	June 23, 2028	Award Date:			
LOCATION:	Rockingham, District 6				

Summary of Bidders

Contractor	Bid Amount	Rank
SPS NEW ENGLAND, INC.	\$107,559,567.35	А
98 ELM STREET, SALISBURY MA 01952		
REED & REED INC	\$119,679,480.00	В

PO BOX 370, WOOLWICH ME 04579





X-A001(026)

					PS&E	98 EL	ENGLAND, INC. M STREET RY, MA 01952	POI	& REED INC BOX 370 CH, ME 04579
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

-		1	1						
201.21	REMOVING SMALL TREES	EA	1.00	\$220.00	\$220.00	\$6,000.00	\$6,000.00	\$3,700.00	\$3,700.00
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	550.00	\$2.00	\$1,100.00	\$25.00	\$13,750.00	\$21.00	\$11,550.00
201.882	INVASIVE SPECIES CONTROL TYPE II	SY	1,000.00	\$2.00	\$2,000.00	\$25.00	\$25,000.00	\$21.00	\$21,000.00
202.201	DEMOLISHING BUILDINGS	U	1.00	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00	\$62,000.00	\$62,000.00
202.301	BUILDING ASBESTOS ABATEMENT	U	1.00	\$20,000.00	\$20,000.00	\$50,000.00	\$50,000.00	\$64,000.00	\$64,000.00
202.302	BUILDING ASBESTOS ABATEMENT	U	1.00	\$40,000.00	\$40,000.00	\$25,000.00	\$25,000.00	\$46,000.00	\$46,000.00
202.31	FILL ABANDONED PIPE	СҮ	3.00	\$475.00	\$1,425.00	\$2,100.00	\$6,300.00	\$1,100.00	\$3,300.00
202.32	FILL AND ABANDON STRUCTURE	СҮ	3.00	\$300.00	\$900.00	\$1,250.00	\$3,750.00	\$1,100.00	\$3,300.00
202.41	REMOVAL OF EXISTING PIPE 0-24" DIAMETER	LF	340.00	\$26.00	\$8,840.00	\$28.00	\$9,520.00	\$75.00	\$25,500.00
202.5	REMOVAL OF CATCH BASINS, DROP INLETS, AND MANHOLES	EA	4.00	\$925.00	\$3,700.00	\$2,000.00	\$8,000.00	\$2,600.00	\$10,400.00
202.6	CURB REMOVAL FOR SALVAGE	LF	2,450.00	\$7.00	\$17,150.00	\$4.60	\$11,270.00	\$6.50	\$15,925.00
202.7	REMOVAL OF GUARDRAIL	LF	480.00	\$5.00	\$2,400.00	\$6.50	\$3,120.00	\$7.50	\$3,600.00
202.8428	REMOVE AND SALVAGE BRIDGE MOUNTED LIGHT POLE	U	8.00	\$1,000.00	\$8,000.00	\$4,000.00	\$32,000.00	\$860.00	\$6,880.00
202.861	REMOVE UTILITY POLE	EA	5.00	\$1,400.00	\$7,000.00	\$4,000.00	\$20,000.00	\$150.00	\$750.00
203.1	COMMON EXCAVATION	СҮ	3,850.00	\$15.00	\$57,750.00	\$50.00	\$192,500.00	\$34.00	\$130,900.00
203.11	COMMON EXCAVATION - LRS	СҮ	1,350.00	\$17.00	\$22,950.00	\$35.00	\$47,250.00	\$39.00	\$52,650.00
203.181	RELOCATION OF SEED BANK AND SAND MATERIALS	СҮ	700.00	\$25.00	\$17,500.00	\$125.00	\$87,500.00	\$47.00	\$32,900.00
203.2	ROCK EXCAVATION	СҮ	193.00	\$56.00	\$10,808.00	\$175.00	\$33,775.00	\$260.00	\$50,180.00
203.5571	EAGRT PLATFORM PREFERRED, TL 2 - 25'	U	4.00	\$1,475.00	\$5,900.00	\$2,100.00	\$8,400.00	\$2,100.00	\$8,400.00
203.6	EMBANKMENT-IN-PLACE (F)	СҮ	8,500.00	\$12.00	\$102,000.00	\$28.00	\$238,000.00	\$26.00	\$221,000.00
206.1	COMMON STRUCTURE EXCAVATION	СҮ	2,300.00	\$13.00	\$29,900.00	\$8.00	\$18,400.00	\$31.00	\$71,300.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	СҮ	40.00	\$75.00	\$3,000.00	\$500.00	\$20,000.00	\$260.00	\$10,400.00
207.2	ROCK CHANNEL EXCAVATION	СҮ	520.00	\$115.00	\$59,800.00	\$150.00	\$78,000.00	\$600.00	\$312,000.00
207.3	UNCLASSIFIED CHANNEL EXCAVATION	СҮ	10,400.00	\$35.00	\$364,000.00	\$29.00	\$301,600.00	\$90.00	\$936,000.00



SEABROOK - HAMPTON

15904

					PS&E	SPS NEW ENGLAND, INC. REED & REED INC 98 ELM STREET PO BOX 370 SALISBURY, MA 01952 WOOLWICH, ME 04579		BOX 370	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
209.201	GRANULAR BACKFILL (BRIDGE) (F)	CY	356.00	\$45.00	\$16,020.00	\$70.00	\$24,920.00	\$63.00	\$22,428.00
209.62	LIGHTWEIGHT FILL (FGA)	СҮ	1,700.00	\$150.00	\$255,000.00	\$240.00	\$408,000.00	\$205.00	\$348,500.00
211.11	VIBRATION MONITORING SERVICES	HR	600.00	\$125.00	\$75,000.00	\$1.00	\$600.00	\$75.00	\$45,000.00
214.	FINE GRADING	U	1.00	\$182,700.00	\$182,700.00	\$75,000.00	\$75,000.00	\$50,000.00	\$50,000.00
304.1	SAND (F)	СҮ	3,200.00	\$25.00	\$80,000.00	\$65.00	\$208,000.00	\$57.00	\$182,400.00
304.4	CRUSHED STONE (FINE GRADATION) (F)	СҮ	2,400.00	\$32.00	\$76,800.00	\$55.00	\$132,000.00	\$68.00	\$163,200.00
304.499	TEMPORARY CRUSHED STONE (FINE GRADATION)	СҮ	220.00	\$34.00	\$7,480.00	\$55.00	\$12,100.00	\$84.00	\$18,480.00
304.5	CRUSHED STONE (COARSE GRADATION) (F)	СҮ	1,650.00	\$28.00	\$46,200.00	\$70.00	\$115,500.00	\$72.00	\$118,800.00
403.11022	HBP-3/4" BINDER MIX, MACHINE METHOD, QC/QA TIER 2	TON	1,120.00	\$75.00	\$84,000.00	\$165.00	\$184,800.00	\$110.00	\$123,200.00
403.11032	HBP-3/4" WINTER BINDER MIX, MACHINE METHOD, QC/QA TIER 2	TON	1,100.00	\$71.00	\$78,100.00	\$165.00	\$181,500.00	\$110.00	\$121,000.00
403.11942	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH, QC/QA TIER 2	TON	2,200.00	\$115.00	\$253,000.00	\$190.00	\$418,000.00	\$120.00	\$264,000.00
403.12	HBP-HAND METHOD	TON	25.00	\$240.00	\$6,000.00	\$210.00	\$5,250.00	\$225.00	\$5,625.00
403.16	PAVEMENT JOINT ADHESIVE	LF	14,400.00	\$1.00	\$14,400.00	\$1.00	\$14,400.00	\$1.00	\$14,400.00
403.19	HBP-TEMPORARY	TON	180.00	\$200.00	\$36,000.00	\$270.00	\$48,600.00	\$135.00	\$24,300.00
403.21053	HBP-3/8" MIX, MACHINE METHOD (BRIDGE BASE)	TON	313.00	\$200.00	\$62,600.00	\$290.00	\$90,770.00	\$175.00	\$54,775.00
403.26	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	6,570.00	\$1.25	\$8,212.50	\$1.00	\$6,570.00	\$1.00	\$6,570.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	1,700.00	\$9.00	\$15,300.00	\$13.00	\$22,100.00	\$5.00	\$8,500.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	12,200.00	\$5.00	\$61,000.00	\$10.00	\$122,000.00	\$5.00	\$61,000.00
500.02	ACCESS FOR BRIDGE CONSTRUCTION	U	1.00	\$9,584,525.00	\$9,584,525.00	\$12,000,000.00	\$12,000,000.00	\$7,500,000.00	\$7,500,000.00
502.101	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$1,900,000.00	\$1,900,000.00	\$3,500,000.00	\$3,500,000.00	\$3,000,000.00	\$3,000,000.00
502.102	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$2,995,000.00	\$2,995,000.00	\$7,000,000.00	\$7,000,000.00	\$8,500,000.00	\$8,500,000.00
503.201	COFFERDAMS	U	1.00	\$285,000.00	\$285,000.00	\$500,000.00	\$500,000.00	\$6,000,000.00	\$6,000,000.00
503.202	COFFERDAMS	U	1.00	\$100,000.00	\$100,000.00	\$200,000.00	\$200,000.00	\$750,000.00	\$750,000.00
503.203	COFFERDAMS	U	1.00	\$80,000.00	\$80,000.00	\$200,000.00	\$200,000.00	\$750,000.00	\$750,000.00
503.204	COFFERDAMS	U	1.00	\$100,000.00	\$100,000.00	\$350,000.00	\$350,000.00	\$1,000,000.00	\$1,000,000.00
503.301	COFFERDAMS WITH SHEETING LEFT-IN-PLACE	U	1.00	\$204,000.00	\$204,000.00	\$150,000.00	\$150,000.00	\$300,000.00	\$300,000.00



SEABROOK - HAMPTON

15904

					PS&E	98 EL	ENGLAND, INC. M STREET IRY, MA 01952	PO	& REED INC BOX 370 CH, ME 04579
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
503.302	COFFERDAMS WITH SHEETING LEFT-IN-PLACE	U	1.00	\$256,000.00	\$256,000.00	\$400,000.00	\$400,000.00	\$300,000.00	\$300,000.00
504.1	COMMON BRIDGE EXCAVATION (F)	СҮ	685.00	\$45.00	\$30,825.00	\$100.00	\$68,500.00	\$65.00	\$44,525.00
504.2	ROCK BRIDGE EXCAVATION	СҮ	170.00	\$100.00	\$17,000.00	\$155.00	\$26,350.00	\$250.00	\$42,500.00
506.2	STEEL SHEET PILING	LB	387,100.00	\$2.75	\$1,064,525.00	\$2.50	\$967,750.00	\$2.50	\$967,750.00
508.	STRUCTURAL FILL	СҮ	375.00	\$45.00	\$16,875.00	\$60.00	\$22,500.00	\$85.00	\$31,875.00
509.1	MOBILIZATION AND DEMOBILIZATION OF DRILLED SHAFT DRILLING EQUIPMENT	U	1.00	\$300,000.00	\$300,000.00	\$750,000.00	\$750,000.00	\$9,500,000.00	\$9,500,000.00
509.2	DRILLED SHAFTS	LF	2,100.00	\$2,000.00	\$4,200,000.00	\$4,000.00	\$8,400,000.00	\$2,300.00	\$4,830,000.00
509.3	OBSTRUCTION REMOVAL	LF	105.00	\$200.00	\$21,000.00	\$4,750.00	\$498,750.00	\$1,200.00	\$126,000.00
509.4	ROCK SOCKET EXCAVATION	LF	375.00	\$2,500.00	\$937,500.00	\$4,000.00	\$1,500,000.00	\$2,500.00	\$937,500.00
509.51	CROSSHOLE SONIC LOGGING (CSL) TEST	EA	36.00	\$3,500.00	\$126,000.00	\$6,750.00	\$243,000.00	\$7,500.00	\$270,000.00
509.52	THERMAL IMAGE PROFILING (TIP) TEST	EA	6.00	\$9,000.00	\$54,000.00	\$12,800.00	\$76,800.00	\$10,000.00	\$60,000.00
509.62	DRILLED SHAFT REINFORCING STEEL	LB	425,000.00	\$2.00	\$850,000.00	\$3.85	\$1,636,250.00	\$2.20	\$935,000.00
510.1	PILE DRIVING EQUIPMENT	U	1.00	\$100,000.00	\$100,000.00	\$75,000.00	\$75,000.00	\$100,000.00	\$100,000.00
510.22	HIGH-STRAIN DYNAMIC TESTING	EA	4.00	\$5,000.00	\$20,000.00	\$4,250.00	\$17,000.00	\$12,000.00	\$48,000.00
510.61	FURNISHING & DRIVING STEEL BEARING PILES	LB	613,300.00	\$2.50	\$1,533,250.00	\$2.00	\$1,226,600.00	\$1.75	\$1,073,275.00
510.65	DRIVING-POINTS FOR STEEL BEARING PILES	EA	72.00	\$200.00	\$14,400.00	\$200.00	\$14,400.00	\$250.00	\$18,000.00
510.9	PILE SPLICES	EA	72.00	\$300.00	\$21,600.00	\$2,750.00	\$198,000.00	\$1,000.00	\$72,000.00
520.02	CONCRETE CLASS AA, ABOVE FOOTINGS (F)	СҮ	1,179.00	\$1,200.00	\$1,414,800.00	\$1,950.00	\$2,299,050.00	\$3,200.00	\$3,772,800.00
520.02021	CONCRETE CLASS AA, RAIL SUPPORT SLAB (QC/QA) (F)	СҮ	330.00	\$1,200.00	\$396,000.00	\$1,200.00	\$396,000.00	\$3,000.00	\$990,000.00
520.021	CONCRETE CLASS AA, FOOTINGS (F)	CY	3,620.00	\$800.00	\$2,896,000.00	\$750.00	\$2,715,000.00	\$950.00	\$3,439,000.00
520.0302	CONCRETE CLASS AA APPROACH SLABS (QC/QA) (F)	СҮ	71.00	\$600.00	\$42,600.00	\$500.00	\$35,500.00	\$1,400.00	\$99,400.00
520.1	CONCRETE CLASS A	СҮ	1.00	\$1,375.00	\$1,375.00	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00
520.12	CONCRETE CLASS A, ABOVE FOOTINGS (F)	СҮ	505.00	\$1,000.00	\$505,000.00	\$1,575.00	\$795,375.00	\$4,500.00	\$2,272,500.00
520.2	CONCRETE CLASS B	СҮ	3.00	\$685.00	\$2,055.00	\$1,500.00	\$4,500.00	\$1,500.00	\$4,500.00
520.21	CONCRETE CLASS B, FOOTINGS (F)	СҮ	200.00	\$500.00	\$100,000.00	\$750.00	\$150,000.00	\$1,500.00	\$300,000.00
520.6	CONCRETE CLASS T, FOUNDATION SEAL	СҮ	393.00	\$375.00	\$147,375.00	\$300.00	\$117,900.00	\$550.00	\$216,150.00



SEABROOK - HAMPTON

15904

				PS&E		98 EL	ENGLAND, INC. M STREET IRY, MA 01952	REED & REED INC PO BOX 370 WOOLWICH, ME 04579	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
520.7002	CONCRETE BRIDGE DECK (QC/QA) (F)	CY	2,239.00	\$1,300.00	\$2,910,700.00	\$1,500.00	\$3,358,500.00	\$2,100.00	\$4,701,900.00
528.51	PRESTRESSED CONCRETE DECK PANELS (F)	SF	50,095.00	\$22.00	\$1,102,090.00	\$25.00	\$1,252,375.00	\$24.00	\$1,202,280.00
529.21	PRECAST CONCRETE SUBSTRUCTURE, PIER (STAY-IN-PLACE FORM)	CY	1,240.00	\$2,000.00	\$2,480,000.00	\$0.01	\$12.40	\$1,000.00	\$1,240,000.00
532.1	ANTI-GRAFFITI COATING	SF	2,090.00	\$2.00	\$4,180.00	\$1.10	\$2,299.00	\$11.00	\$22,990.00
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	447.00	\$100.00	\$44,700.00	\$170.00	\$75,990.00	\$150.00	\$67,050.00
538.2	BARRIER MEMBRANE, PEEL AND STICK - VERTICAL SURFACES (F)	SY	50.00	\$70.00	\$3,500.00	\$20.00	\$1,000.00	\$550.00	\$27,500.00
538.6	BARRIER MEMBRANE, HEAT WELDED - MACHINE METHOD (F)	SY	5,480.00	\$27.00	\$147,960.00	\$31.00	\$169,880.00	\$50.00	\$274,000.00
540.201	FENDER SYSTEM	U	4.00	\$200,000.00	\$800,000.00	\$85,000.00	\$340,000.00	\$90,000.00	\$360,000.00
540.202	FENDER SYSTEM	U	2.00	\$130,000.00	\$260,000.00	\$80,000.00	\$160,000.00	\$300,000.00	\$600,000.00
541.1	PVC WATERSTOPS, NH TYPE 1 (F)	LF	140.00	\$10.00	\$1,400.00	\$14.00	\$1,960.00	\$33.00	\$4,620.00
541.2	PVC WATERSTOPS, NH TYPE 2 (F)	LF	148.00	\$10.00	\$1,480.00	\$16.00	\$2,368.00	\$11.00	\$1,628.00
544.	REINFORCING STEEL (F)	LB	9,050.00	\$2.00	\$18,100.00	\$2.00	\$18,100.00	\$2.00	\$18,100.00
544.1	REINFORCING STEEL (ROADWAY)	LB	11.00	\$2.00	\$22.00	\$2,200.00	\$24,200.00	\$11.00	\$121.00
544.2	REINFORCING STEEL, EPOXY COATED (F)	LB	1,362,840.00	\$2.50	\$3,407,100.00	\$2.00	\$2,725,680.00	\$2.00	\$2,725,680.00
544.23	REINFORCING STEEL-EPOXY COATED COUPLER	EA	216.00	\$62.00	\$13,392.00	\$200.00	\$43,200.00	\$275.00	\$59,400.00
544.7	SYNTHETIC FIBER REINFORCEMENT (F)	LB	700.00	\$9.00	\$6,300.00	\$23.00	\$16,100.00	\$12.00	\$8,400.00
547.1	SHEAR CONNECTORS (F)	EA	16,170.00	\$10.00	\$161,700.00	\$7.00	\$113,190.00	\$10.00	\$161,700.00
547.2	SHEAR CONNECTORS (F)	EA	905.00	\$10.00	\$9,050.00	\$7.00	\$6,335.00	\$50.00	\$45,250.00
548.21	ELASTOMERIC BEARING ASSEMBLIES (F)	EA	42.00	\$7,000.00	\$294,000.00	\$16,000.00	\$672,000.00	\$18,000.00	\$756,000.00
548.22	ELASTOMERIC BEARING ASSEMBLIES (F)	EA	6.00	\$7,000.00	\$42,000.00	\$13,000.00	\$78,000.00	\$16,000.00	\$96,000.00
550.1	STRUCTURAL STEEL (F)	LB	4,030,200.00	\$4.35	\$17,531,370.00	\$7.00	\$28,211,400.00	\$4.75	\$19,143,450.00
561.2001	PREFABRICATED MODULAR BRIDGE JOINT SYSTEM (F)	LF	54.00	\$5,000.00	\$270,000.00	\$7,500.00	\$405,000.00	\$6,500.00	\$351,000.00
561.2002	PREFABRICATED MODULAR BRIDGE JOINT SYSTEM (F)	LF	54.00	\$5,000.00	\$270,000.00	\$8,750.00	\$472,500.00	\$7,500.00	\$405,000.00
562.1	SILICONE JOINT SEALANT (F)	LF	180.00	\$25.00	\$4,500.00	\$35.00	\$6,300.00	\$30.00	\$5,400.00
563.24	BRIDGE RAIL T4	LF	2,989.00	\$350.00	\$1,046,150.00	\$575.00	\$1,718,675.00	\$300.00	\$896,700.00
563.243	BRIDGE RAIL T4 WITH SNOW SCREENING	LF	221.00	\$400.00	\$88,400.00	\$850.00	\$187,850.00	\$325.00	\$71,825.00



SEABROOK - HAMPTON

15904

					PS&E	98 EL	ENGLAND, INC. M STREET IRY, MA 01952	PO	8. REED INC BOX 370 CH, ME 04579
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
564.1	BRIDGE LIGHTING SYSTEM	U	1.00	\$3,700.00	\$3,700.00	\$110,000.00	\$110,000.00	\$20,000.00	\$20,000.00
564.4	BRIDGE NAVIGATION LIGHTS	U	1.00	\$70,000.00	\$70,000.00	\$130,000.00	\$130,000.00	\$200,000.00	\$200,000.00
565.242	BRIDGE APPROACH RAIL T4 (STEEL POSTS)	U	4.00	\$12,500.00	\$50,000.00	\$22,000.00	\$88,000.00	\$12,000.00	\$48,000.00
583.5	RIPRAP, CLASS V	СҮ	2,540.00	\$75.00	\$190,500.00	\$170.00	\$431,800.00	\$270.00	\$685,800.00
583.9	RIPRAP, CLASS IX	СҮ	8,070.00	\$95.00	\$766,650.00	\$0.01	\$80.70	\$325.00	\$2,622,750.00
585.3	STONE FILL, CLASS C	СҮ	8.00	\$75.00	\$600.00	\$115.00	\$920.00	\$85.00	\$680.00
593.211	GEOTEXTILE; SEPARATION CL.1, NON-WOVEN	SY	1,300.00	\$5.00	\$6,500.00	\$3.00	\$3,900.00	\$11.00	\$14,300.00
593.411	GEOTEXTILE; PERM CONTROL CL.1, NON-WOVEN	SY	2,590.00	\$5.00	\$12,950.00	\$4.00	\$10,360.00	\$6.00	\$15,540.00
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON-WOVEN	SY	1,100.00	\$4.00	\$4,400.00	\$3.50	\$3,850.00	\$6.00	\$6,600.00
603.0001	VIDEO INSPECTION	LF	1,900.00	\$4.00	\$7,600.00	\$2.00	\$3,800.00	\$3.50	\$6,650.00
603.00212	12" R.C. PIPE, 2000D	LF	5.00	\$67.00	\$335.00	\$400.00	\$2,000.00	\$315.00	\$1,575.00
603.00215	15" R.C. PIPE, 2000D	LF	260.00	\$75.00	\$19,500.00	\$150.00	\$39,000.00	\$190.00	\$49,400.00
603.25112	12" STEEL PIPE SLEEVE (0.250")	LF	249.00	\$100.00	\$24,900.00	\$70.00	\$17,430.00	\$145.00	\$36,105.00
603.25124	24" STEEL PIPE SLEEVE (0.250")	LF	115.00	\$150.00	\$17,250.00	\$300.00	\$34,500.00	\$335.00	\$38,525.00
603.33215	15" CORR. POLYETHYLENE END SECTION	EA	1.00	\$327.00	\$327.00	\$400.00	\$400.00	\$365.00	\$365.00
603.33218	18" CORR. POLYETHYLENE END SECTION	EA	1.00	\$500.00	\$500.00	\$475.00	\$475.00	\$680.00	\$680.00
603.8051	UNDERGROUND INFILTRATION SYSTEM	U	1.00	\$64,000.00	\$64,000.00	\$200,000.00	\$200,000.00	\$81,000.00	\$81,000.00
603.82212	12" PE PIPE (TYPE S)	LF	25.00	\$60.00	\$1,500.00	\$70.00	\$1,750.00	\$72.00	\$1,800.00
603.82215	15" PE PIPE (TYPE S)	LF	920.00	\$65.00	\$59,800.00	\$60.00	\$55,200.00	\$92.00	\$84,640.00
603.82218	18" PE PIPE (TYPE S)	LF	490.00	\$80.00	\$39,200.00	\$75.00	\$36,750.00	\$100.00	\$49,000.00
603.82224	24" PE PIPE (TYPE S)	LF	10.00	\$156.00	\$1,560.00	\$550.00	\$5,500.00	\$155.00	\$1,550.00
604.0007	POLYETHYLENE LINER	EA	15.00	\$220.00	\$3,300.00	\$155.00	\$2,325.00	\$340.00	\$5,100.00
604.124	CATCH BASINS TYPE B, 4-FOOT DIAMETER	U	16.00	\$2,890.00	\$46,240.00	\$4,500.00	\$72,000.00	\$5,300.00	\$84,800.00
604.324	DRAINAGE MANHOLES, 4-FOOT DIAMETER	U	3.00	\$3,000.00	\$9,000.00	\$4,500.00	\$13,500.00	\$5,300.00	\$15,900.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	2.00	\$510.00	\$1,020.00	\$650.00	\$1,300.00	\$525.00	\$1,050.00
604.51	RECONSTRUCTING/ADJUSTING SEWER MANHOLES	LF	9.00	\$750.00	\$6,750.00	\$800.00	\$7,200.00	\$365.00	\$3,285.00



SEABROOK - HAMPTON

15904

					PS&E	SPS NEW ENGLAND, INC. 98 ELM STREET SALISBURY, MA 01952		PO	& REED INC BOX 370 ICH, ME 04579	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
604.9101	OUTLET CONTROL STRUCTURE	U	1.00	\$8,000.00	\$8,000.00	\$10,000.00	\$10,000.00	\$5,200.00	\$5,200.00	
604.9102	OUTLET CONTROL STRUCTURE	U	1.00	\$8,000.00	\$8,000.00	\$10,000.00	\$10,000.00	\$5,200.00	\$5,200.00	
604.9103	OUTLET CONTROL STRUCTURE	U	1.00	\$8,000.00	\$8,000.00	\$10,000.00	\$10,000.00	\$5,200.00	\$5,200.00	
604.9104	OUTLET CONTROL STRUCTURE	U	1.00	\$8,000.00	\$8,000.00	\$10,000.00	\$10,000.00	\$5,200.00	\$5,200.00	
606.12551	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2 - 25') (STEEL POST)	U	4.00	\$3,530.00	\$14,120.00	\$5,100.00	\$20,400.00	\$3,500.00	\$14,000.00	
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	175.00	\$28.00	\$4,900.00	\$48.00	\$8,400.00	\$28.00	\$4,900.00	
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	3,350.00	\$33.00	\$110,550.00	\$94.00	\$314,900.00	\$125.00	\$418,750.00	
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	750.00	\$64.00	\$48,000.00	\$115.00	\$86,250.00	\$250.00	\$187,500.00	
606.93	TEMPORARY BEAM GUARDRAIL	LF	150.00	\$32.00	\$4,800.00	\$48.00	\$7,200.00	\$15.00	\$2,250.00	
606.93255	TEMPORARY BEAM GUARDRAIL (TERMINAL UNIT EAGRT, TL-2) (STEEL POSTS)	U	2.00	\$4,000.00	\$8,000.00	\$5,100.00	\$10,200.00	\$5,500.00	\$11,000.00	
606.9512	TEMP. IMPACT ATTENUATION DEVICE (REDIRECTIVE), TEST LEVEL 2	U	2.00	\$7,500.00	\$15,000.00	\$6,900.00	\$13,800.00	\$13,000.00	\$26,000.00	
606.9522	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 2	U	3.00	\$3,500.00	\$10,500.00	\$4,100.00	\$12,300.00	\$10,000.00	\$30,000.00	
607.9840	RESETTING MISCELLANEOUS FENCE TYPES, 4' HIGH	LF	330.00	\$70.00	\$23,100.00	\$45.00	\$14,850.00	\$50.00	\$16,500.00	
608.24	4" CONCRETE SIDEWALK (F)	SY	1,400.00	\$67.00	\$93,800.00	\$68.00	\$95,200.00	\$105.00	\$147,000.00	
608.36	6" REINFORCED CONCRETE SIDEWALK (F)	SY	320.00	\$96.00	\$30,720.00	\$85.00	\$27,200.00	\$130.00	\$41,600.00	
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	20.00	\$450.00	\$9,000.00	\$110.00	\$2,200.00	\$440.00	\$8,800.00	
609.01	STRAIGHT GRANITE CURB	LF	2,250.00	\$49.00	\$110,250.00	\$50.00	\$112,500.00	\$55.00	\$123,750.00	
609.216	STRAIGHT GRANITE SLOPE CURB 6" HIGH	LF	175.00	\$27.00	\$4,725.00	\$50.00	\$8,750.00	\$51.00	\$8,925.00	
609.5	RESET GRANITE CURB	LF	920.00	\$19.00	\$17,480.00	\$25.00	\$23,000.00	\$20.00	\$18,400.00	
611.05208	8" CEMENT LINED DUCTILE IRON WATER PIPE, CL 52	LF	115.00	\$140.00	\$16,100.00	\$200.00	\$23,000.00	\$135.00	\$15,525.00	
611.05212	12" CEMENT LINED DUCTILE IRON WATER PIPE, CL 52	LF	630.00	\$180.00	\$113,400.00	\$230.00	\$144,900.00	\$175.00	\$110,250.00	
611.41502	STEEL CASING PIPE WITH 8" DI CARRIER PIPE	LF	55.00	\$165.00	\$9,075.00	\$200.00	\$11,000.00	\$440.00	\$24,200.00	
611.43914	12" SUPPORTED CEMENT LINED DI WATER PIPE (DI-MJ), INSULATED	LF	1,430.00	\$590.00	\$843,700.00	\$410.00	\$586,300.00	\$900.00	\$1,287,000.00	
611.51020	2" CORPORATION STOP	EA	2.00	\$350.00	\$700.00	\$1,245.00	\$2,490.00	\$1,250.00	\$2,500.00	
611.52010	1" CURB STOP WITH BOX	EA	1.00	\$450.00	\$450.00	\$1,070.00	\$1,070.00	\$1,000.00	\$1,000.00	
611.52020	2" CURB STOP WITH BOX	EA	1.00	\$500.00	\$500.00	\$1,615.00	\$1,615.00	\$1,600.00	\$1,600.00	



SEABROOK - HAMPTON

15904

					PS&E	98 EL	ENGLAND, INC. M STREET IRY, MA 01952	PO	& REED INC BOX 370 ICH, ME 04579
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
611.55010	1" PE SERVICE PIPE	LF	6.00	\$50.00	\$300.00	\$350.00	\$2,100.00	\$105.00	\$630.00
611.55020	2" PE SERVICE PIPE	LF	460.00	\$20.00	\$9,200.00	\$48.00	\$22,080.00	\$65.00	\$29,900.00
611.70008	8" FITTING	EA	7.00	\$760.00	\$5,320.00	\$1,190.00	\$8,330.00	\$1,000.00	\$7,000.00
611.70012	12" FITTING	EA	10.00	\$1,400.00	\$14,000.00	\$1,250.00	\$12,500.00	\$1,600.00	\$16,000.00
611.70404	4" LINESTOP	EA	1.00	\$5,000.00	\$5,000.00	\$9,220.00	\$9,220.00	\$9,500.00	\$9,500.00
611.70408	8" LINESTOP	EA	3.00	\$5,000.00	\$15,000.00	\$11,500.00	\$34,500.00	\$9,500.00	\$28,500.00
611.70412	12" LINESTOP	EA	1.00	\$14,000.00	\$14,000.00	\$27,500.00	\$27,500.00	\$25,000.00	\$25,000.00
611.71006	6" GATE VALVE WITH BOX	EA	2.00	\$1,400.00	\$2,800.00	\$2,200.00	\$4,400.00	\$3,100.00	\$6,200.00
611.71008	8" GATE VALVE WITH BOX	EA	5.00	\$2,400.00	\$12,000.00	\$2,400.00	\$12,000.00	\$3,500.00	\$17,500.00
611.71012	12" GATE VALVE WITH BOX	EA	1.00	\$3,600.00	\$3,600.00	\$5,030.00	\$5,030.00	\$5,000.00	\$5,000.00
611.71112	12" TAPPING SLEEVE & VALVE WITH BOX	EA	1.00	\$8,050.00	\$8,050.00	\$11,900.00	\$11,900.00	\$11,000.00	\$11,000.00
611.73008	8" COUPLING	EA	1.00	\$530.00	\$530.00	\$1,700.00	\$1,700.00	\$1,300.00	\$1,300.00
611.73312	12" EXPANSION JOINT	EA	2.00	\$1,300.00	\$2,600.00	\$20,500.00	\$41,000.00	\$20,000.00	\$40,000.00
611.74206	8" X 6" REDUCER	EA	1.00	\$750.00	\$750.00	\$1,040.00	\$1,040.00	\$2,100.00	\$2,100.00
611.74408	12" X 8" REDUCER	EA	2.00	\$1,000.00	\$2,000.00	\$1,350.00	\$2,700.00	\$320.00	\$640.00
611.75	AIR RELEASE VALVE WITH VAULT	EA	1.00	\$2,100.00	\$2,100.00	\$3,250.00	\$3,250.00	\$8,100.00	\$8,100.00
611.78108	8" FLOW METER WITH VAULT	U	1.00	\$28,000.00	\$28,000.00	\$26,300.00	\$26,300.00	\$45,000.00	\$45,000.00
611.78302	2" METER PIT	U	1.00	\$9,340.00	\$9,340.00	\$4,700.00	\$4,700.00	\$12,000.00	\$12,000.00
611.81	HYDRANT	EA	2.00	\$4,580.00	\$9,160.00	\$8,400.00	\$16,800.00	\$7,500.00	\$15,000.00
611.814	REMOVE HYDRANT	EA	1.00	\$1,250.00	\$1,250.00	\$4,030.00	\$4,030.00	\$3,200.00	\$3,200.00
614.16218	6" 2-DUCT PVC CONDUIT, SCHEDULE 80, CONCRETE ENCASED	LF	270.00	\$438.30	\$118,341.00	\$220.00	\$59,400.00	\$275.00	\$74,250.00
614.16918	6" 9-DUCT PVC CONDUIT, SCHEDULE 80, CONCRETE ENCASED	LF	732.00	\$624.70	\$457,280.40	\$440.00	\$322,080.00	\$400.00	\$292,800.00
614.2229	2" 2-DUCT FIBERGLASS CONDUIT (BRIDGE)	LF	635.00	\$45.00	\$28,575.00	\$130.00	\$82,550.00	\$100.00	\$63,500.00
614.2419	4" FIBERGLASS CONDUIT (BRIDGE)	LF	1,304.00	\$60.00	\$78,240.00	\$88.00	\$114,752.00	\$90.00	\$117,360.00
614.2699	6" 9-DUCT FIBERGLASS CONDUIT (BRIDGE)	LF	1,310.00	\$395.48	\$518,078.80	\$800.00	\$1,048,000.00	\$425.00	\$556,750.00
614.522	MOLDED PULL BOX 13"X24"	EA	2.00	\$750.00	\$1,500.00	\$1,140.00	\$2,280.00	\$1,300.00	\$2,600.00



SEABROOK - HAMPTON

15904

					PS&E	98 EL	ENGLAND, INC. M STREET IRY, MA 01952	PO	& REED INC BOX 370 CH, ME 04579
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
614.523	MOLDED PULL BOX 17"X30"	EA	5.00	\$860.00	\$4,300.00	\$1,200.00	\$6,000.00	\$1,800.00	\$9,000.00
614.59	ELECTRIC VAULT	U	2.00	\$25,663.50	\$51,327.00	\$18,000.00	\$36,000.00	\$40,000.00	\$80,000.00
614.72114	2" PVC CONDUIT, SCHEDULE 40	LF	1,170.00	\$20.00	\$23,400.00	\$53.00	\$62,010.00	\$20.00	\$23,400.00
614.73114	3" PVC CONDUIT, SCHEDULE 40	LF	730.00	\$30.00	\$21,900.00	\$63.00	\$45,990.00	\$35.00	\$25,550.00
614.74118	4" PVC CONDUIT, SCHEDULE 80	LF	263.00	\$30.00	\$7,890.00	\$70.00	\$18,410.00	\$65.00	\$17,095.00
614.76114	6" PVC CONDUIT, SCHEDULE 40	LF	60.00	\$40.00	\$2,400.00	\$92.00	\$5,520.00	\$125.00	\$7,500.00
615.0301	TRAFFIC SIGN TYPE C	SF	122.00	\$62.00	\$7,564.00	\$122.00	\$14,884.00	\$95.00	\$11,590.00
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	61.00	\$64.00	\$3,904.00	\$53.00	\$3,233.00	\$40.00	\$2,440.00
615.034	RELOCATING TRAFFIC SIGN, TYPE C	U	12.00	\$200.00	\$2,400.00	\$364.00	\$4,368.00	\$275.00	\$3,300.00
615.0601	TRAFFIC SIGN TYPE CC	SF	42.00	\$30.00	\$1,260.00	\$22.00	\$924.00	\$16.00	\$672.00
615.30691	BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE (MODIFIED)	U	4.00	\$4,800.00	\$19,200.00	\$1,325.00	\$5,300.00	\$12,000.00	\$48,000.00
616.972	CLASSIFICATION EQUIPMENT WITH SOLAR	U	1.00	\$70,000.00	\$70,000.00	\$26,500.00	\$26,500.00	\$45,000.00	\$45,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00
618.7	FLAGGERS	HR	2,000.00	\$35.00	\$70,000.00	\$55.00	\$110,000.00	\$50.00	\$100,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$241,488.00	\$241,488.00	\$250,000.00	\$250,000.00	\$750,000.00	\$750,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$5,500.00	\$22,000.00	\$990.00	\$3,960.00	\$25,000.00	\$100,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	10.00	\$6.00	\$60.00	\$330.00	\$3,300.00	\$8.00	\$80.00
621.31	SINGLE DELINEATOR WITH POST	EA	2.00	\$52.00	\$104.00	\$145.00	\$290.00	\$55.00	\$110.00
621.32	DOUBLE DELINEATOR WITH POST	EA	2.00	\$54.00	\$108.00	\$145.00	\$290.00	\$60.00	\$120.00
622.1	STEEL WITNESS MARKERS	EA	7.00	\$40.00	\$280.00	\$77.00	\$539.00	\$50.00	\$350.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	2,550.00	\$4.00	\$10,200.00	\$3.30	\$8,415.00	\$15.00	\$38,250.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	44,500.00	\$0.50	\$22,250.00	\$0.40	\$17,800.00	\$0.25	\$11,125.00
632.0112	RETROREFLECTIVE PAINT PAVE. MARKING, 12" LINE	LF	115.00	\$1.00	\$115.00	\$3.25	\$373.75	\$2.00	\$230.00
632.02	RETROREFLECTIVE PAINT PAVEMENT MARKING, SYMBOL OR WORD	SF	504.00	\$3.00	\$1,512.00	\$14.00	\$7,056.00	\$4.00	\$2,016.00
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	55.00	\$5.00	\$275.00	\$5.00	\$275.00	\$3.00	\$165.00
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	270.00	\$3.00	\$810.00	\$5.00	\$1,350.00	\$4.00	\$1,080.00



SEABROOK - HAMPTON

15904

					PS&E	98 EL	ENGLAND, INC. M STREET IRY, MA 01952	PO	& REED INC BOX 370 CH, ME 04579
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	50.00	\$11.50	\$575.00	\$13.25	\$662.50	\$6.00	\$300.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	555.00	\$13.00	\$7,215.00	\$17.00	\$9,435.00	\$10.00	\$5,550.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	25,060.00	\$1.00	\$25,060.00	\$1.00	\$25,060.00	\$0.50	\$12,530.00
645.119	MULCH WITH TACKIFIERS	Α	1.00	\$1,465.00	\$1,465.00	\$2,200.00	\$2,200.00	\$1,700.00	\$1,700.00
645.3	EROSION STONE	TON	150.00	\$35.00	\$5,250.00	\$65.00	\$9,750.00	\$63.00	\$9,450.00
645.44	TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY)	SY	2,000.00	\$3.00	\$6,000.00	\$3.30	\$6,600.00	\$6.00	\$12,000.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	3,300.00	\$6.00	\$19,800.00	\$8.00	\$26,400.00	\$8.00	\$26,400.00
645.52	RYEGRASS FOR TEMPORARY EROSION CONTROL	LB	50.00	\$5.00	\$250.00	\$5.00	\$250.00	\$16.00	\$800.00
645.531	SILT FENCE	LF	3,300.00	\$4.00	\$13,200.00	\$8.00	\$26,400.00	\$7.50	\$24,750.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$8,000.00	\$8,000.00	\$6,000.00	\$6,000.00	\$3,600.00	\$3,600.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	1,500.00	\$90.00	\$135,000.00	\$160.00	\$240,000.00	\$60.00	\$90,000.00
645.72	FINAL WETLAND IMPACT REPORT	U	1.00	\$4,500.00	\$4,500.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00
646.2	TURF ESTABLISHMENT WITHOUT MULCH	Α	1.00	\$2,600.00	\$2,600.00	\$4,000.00	\$4,000.00	\$4,500.00	\$4,500.00
647.1	HUMUS	CY	450.00	\$20.00	\$9,000.00	\$66.00	\$29,700.00	\$42.00	\$18,900.00
650.99	BEACH GRASS PLANTINGS	EA	44,600.00	\$2.50	\$111,500.00	\$8.00	\$356,800.00	\$9.00	\$401,400.00
661.001	INTERPRETIVE SIGN	EA	3.00	\$6,500.00	\$19,500.00	\$8,300.00	\$24,900.00	\$25,000.00	\$75,000.00
661.012	MOUNTING OF EXISTING PLAQUE	EA	1.00	\$1,600.00	\$1,600.00	\$2,000.00	\$2,000.00	\$10,000.00	\$10,000.00
670.104	TEMPORARY PORTABLE LIGHTING	U	4.00	\$4,500.00	\$18,000.00	\$11,000.00	\$44,000.00	\$18,000.00	\$72,000.00
670.2811	NAVIGATIONAL CLEARANCE GAUGE	U	2.00	\$15,000.00	\$30,000.00	\$8,500.00	\$17,000.00	\$15,000.00	\$30,000.00
670.95	TEMPORARY SAFETY FENCE	LF	150.00	\$4.00	\$600.00	\$50.00	\$7,500.00	\$40.00	\$6,000.00
677.3101	WIRELESS COMMUNICATIONS EQUIPMENT	U	1.00	\$15,000.00	\$15,000.00	\$99,100.00	\$99,100.00	\$70,000.00	\$70,000.00
677.41001	CLOSED CIRCUIT TELEVISION (CCTV) SYSTEM FOUNDATION	U	1.00	\$45,000.00	\$45,000.00	\$52,000.00	\$52,000.00	\$55,000.00	\$55,000.00
677.4101	CCTV SYSTEM	U	1.00	\$80,000.00	\$80,000.00	\$155,000.00	\$155,000.00	\$100,000.00	\$100,000.00
677.4102	CCTV SYSTEM	U	1.00	\$23,575.00	\$23,575.00	\$52,000.00	\$52,000.00	\$15,000.00	\$15,000.00
677.51006	6-STRAND SINGLE MODE FIBER OPTIC CABLE	LF	1,210.00	\$4.00	\$4,840.00	\$24.00	\$29,040.00	\$3.00	\$3,630.00
677.53	FIBER OPTIC SPLICE	EA	4.00	\$110.00	\$440.00	\$525.00	\$2,100.00	\$1,000.00	\$4,000.00



SEABROOK - HAMPTON

15904

					PS&E		ENGLAND, INC. M STREET IRY, MA 01952	REED & REED INC PO BOX 370 WOOLWICH, ME 04579	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
677.54201	POLE MOUNTED ITS EQUIPMENT CABINET	U	1.00	\$12,500.00	\$12,500.00	\$13,200.00	\$13,200.00	\$20,000.00	\$20,000.00
677.561	FIBER OPTIC PATCH PANEL (12-POSITION)	EA	1.00	\$1,500.00	\$1,500.00	\$875.00	\$875.00	\$900.00	\$900.00
677.5822	1 GBPS FIBER ETHERNET SWITCH	EA	1.00	\$4,700.00	\$4,700.00	\$14,400.00	\$14,400.00	\$12,000.00	\$12,000.00
677.6301	METER AND DISCONNECT PEDESTAL	U	1.00	\$5,785.00	\$5,785.00	\$3,800.00	\$3,800.00	\$12,000.00	\$12,000.00
677.64	UNINTERRUPTIBLE POWER SUPPLY (UPS)	EA	1.00	\$8,700.00	\$8,700.00	\$11,400.00	\$11,400.00	\$10,000.00	\$10,000.00
677.9302	3-CONDUCTOR #2 AWG CABLE	LF	915.00	\$11.00	\$10,065.00	\$23.00	\$21,045.00	\$12.00	\$10,980.00
677.9308	3-CONDUCTOR #8 AWG CABLE	LF	1,210.00	\$7.00	\$8,470.00	\$17.00	\$20,570.00	\$6.00	\$7,260.00
692.	MOBILIZATION	U	1.00	\$5,500,000.00	\$5,500,000.00	\$9,000,000.00	\$9,000,000.00	\$12,000,000.00	\$12,000,000.00
693.	ON-THE-JOB TRAINING OF UNSKILLED WORKERS	\$	3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$1,700.00	\$1,700.00	\$2,500.00	\$2,500.00	\$6,000.00	\$6,000.00
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$3,250.00	\$3,250.00	\$15,000.00	\$15,000.00	\$100,000.00	\$100,000.00
697.41	CRITICAL PATH METHOD (CPM) ELECTRONIC SCHEDULE	U	1.00	\$5,590.00	\$5,590.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
698.11	FIELD OFFICE TYPE A	MON	50.00	\$5,000.00	\$250,000.00	\$4,850.00	\$242,500.00	\$5,000.00	\$250,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1008.421	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY GAS SERVICE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1010.01	STEEL COST ADJUSTMENT	\$	800,000.00	\$1.00	\$800,000.00	\$1.00	\$800,000.00	\$1.00	\$800,000.00
1010.15	FUEL ADJUSTMENT	\$	250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	10,500.00	\$1.00	\$10,500.00	\$1.00	\$10,500.00	\$1.00	\$10,500.00
1010.41	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) FOR CONCRETE	\$	250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00
	Tota		Totals:		\$76,373,398.70		\$107,559,567.35		\$119,679,480.00
			Alt. Totals:						
			Totals:		\$76,373,398.70		\$107,559,567.35		\$119,679,480.00



15904

		T		A-Bide	der	PS8	RE	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
201.21	REMOVING SMALL TREES	EA	1.00	\$6,000.00	\$6,000.00	\$220.00	\$220.00	\$5,780.00
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	550.00	\$25.00	\$13,750.00	\$2.00	\$1,100.00	\$12,650.00
201.882	INVASIVE SPECIES CONTROL TYPE II	SY	1,000.00	\$25.00	\$25,000.00	\$2.00	\$2,000.00	\$23,000.00
202.201	DEMOLISHING BUILDINGS	U	1.00	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00	(\$25,000.00)
202.301	BUILDING ASBESTOS ABATEMENT	U	1.00	\$50,000.00	\$50,000.00	\$20,000.00	\$20,000.00	\$30,000.00
202.302	BUILDING ASBESTOS ABATEMENT	U	1.00	\$25,000.00	\$25,000.00	\$40,000.00	\$40,000.00	(\$15,000.00)
202.31	FILL ABANDONED PIPE	CY	3.00	\$2,100.00	\$6,300.00	\$475.00	\$1,425.00	\$4,875.00
202.32	FILL AND ABANDON STRUCTURE	CY	3.00	\$1,250.00	\$3,750.00	\$300.00	\$900.00	\$2,850.00
202.41	REMOVAL OF EXISTING PIPE 0-24" DIAMETER	LF	340.00	\$28.00	\$9,520.00	\$26.00	\$8,840.00	\$680.00
202.5	REMOVAL OF CATCH BASINS, DROP INLETS, AND MANHOLES	EA	4.00	\$2,000.00	\$8,000.00	\$925.00	\$3,700.00	\$4,300.00
202.6	CURB REMOVAL FOR SALVAGE	LF	2,450.00	\$4.60	\$11,270.00	\$7.00	\$17,150.00	(\$5,880.00)
202.7	REMOVAL OF GUARDRAIL	LF	480.00	\$6.50	\$3,120.00	\$5.00	\$2,400.00	\$720.00
202.8428	REMOVE AND SALVAGE BRIDGE MOUNTED LIGHT POLE	U	8.00	\$4,000.00	\$32,000.00	\$1,000.00	\$8,000.00	\$24,000.00
202.861	REMOVE UTILITY POLE	EA	5.00	\$4,000.00	\$20,000.00	\$1,400.00	\$7,000.00	\$13,000.00



15904

				A-Bid	der	PS&	ξE	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
203.1	COMMON EXCAVATION	CY	3,850.00	\$50.00	\$192,500.00	\$15.00	\$57,750.00	\$134,750.00
203.11	COMMON EXCAVATION - LRS	CY	1,350.00	\$35.00	\$47,250.00	\$17.00	\$22,950.00	\$24,300.00
203.181	RELOCATION OF SEED BANK AND SAND MATERIALS	СҮ	700.00	\$125.00	\$87,500.00	\$25.00	\$17,500.00	\$70,000.00
203.2	ROCK EXCAVATION	CY	193.00	\$175.00	\$33,775.00	\$56.00	\$10,808.00	\$22,967.00
203.5571	EAGRT PLATFORM PREFERRED, TL 2 - 25'	U	4.00	\$2,100.00	\$8,400.00	\$1,475.00	\$5,900.00	\$2,500.00
203.6	EMBANKMENT-IN-PLACE (F)	CY	8,500.00	\$28.00	\$238,000.00	\$12.00	\$102,000.00	\$136,000.00
206.1	COMMON STRUCTURE EXCAVATION	CY	2,300.00	\$8.00	\$18,400.00	\$13.00	\$29,900.00	(\$11,500.00)
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	СҮ	40.00	\$500.00	\$20,000.00	\$75.00	\$3,000.00	\$17,000.00
207.2	ROCK CHANNEL EXCAVATION	CY	520.00	\$150.00	\$78,000.00	\$115.00	\$59,800.00	\$18,200.00
207.3	UNCLASSIFIED CHANNEL EXCAVATION	СҮ	10,400.00	\$29.00	\$301,600.00	\$35.00	\$364,000.00	(\$62,400.00)
209.201	GRANULAR BACKFILL (BRIDGE) (F)	CY	356.00	\$70.00	\$24,920.00	\$45.00	\$16,020.00	\$8,900.00
209.62	LIGHTWEIGHT FILL (FGA)	CY	1,700.00	\$240.00	\$408,000.00	\$150.00	\$255,000.00	\$153,000.00
211.11	VIBRATION MONITORING SERVICES	HR	600.00	\$1.00	\$600.00	\$125.00	\$75,000.00	(\$74,400.00)
214.	FINE GRADING	U	1.00	\$75,000.00	\$75,000.00	\$182,700.00	\$182,700.00	(\$107,700.00)
304.1	SAND (F)	CY	3,200.00	\$65.00	\$208,000.00	\$25.00	\$80,000.00	\$128,000.00
304.4	CRUSHED STONE (FINE GRADATION) (F)	CY	2,400.00	\$55.00	\$132,000.00	\$32.00	\$76,800.00	\$55,200.00
304.499	TEMPORARY CRUSHED STONE (FINE GRADATION)	СҮ	220.00	\$55.00	\$12,100.00	\$34.00	\$7,480.00	\$4,620.00



15904

				A-Bid	A-Bidder		ЪЕ	
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
304.5	CRUSHED STONE (COARSE GRADATION) (F)	CY	1,650.00	\$70.00	\$115,500.00	\$28.00	\$46,200.00	\$69,300.00
403.11022	HBP-3/4" BINDER MIX, MACHINE METHOD, QC/QA TIER 2	TON	1,120.00	\$165.00	\$184,800.00	\$75.00	\$84,000.00	\$100,800.00
403.11032	HBP-3/4" WINTER BINDER MIX, MACHINE METHOD, QC/QA TIER 2	TON	1,100.00	\$165.00	\$181,500.00	\$71.00	\$78,100.00	\$103,400.00
403.11942	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH, QC/QA TIER 2	TON	2,200.00	\$190.00	\$418,000.00	\$115.00	\$253,000.00	\$165,000.00
403.12	HBP-HAND METHOD	TON	25.00	\$210.00	\$5,250.00	\$240.00	\$6,000.00	(\$750.00)
403.16	PAVEMENT JOINT ADHESIVE	LF	14,400.00	\$1.00	\$14,400.00	\$1.00	\$14,400.00	\$0.00
403.19	HBP-TEMPORARY	TON	180.00	\$270.00	\$48,600.00	\$200.00	\$36,000.00	\$12,600.00
403.21053	HBP-3/8" MIX, MACHINE METHOD (BRIDGE BASE)	TON	313.00	\$290.00	\$90,770.00	\$200.00	\$62,600.00	\$28,170.00
403.26	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	6,570.00	\$1.00	\$6,570.00	\$1.25	\$8,212.50	(\$1,642.50)
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	1,700.00	\$13.00	\$22,100.00	\$9.00	\$15,300.00	\$6,800.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	12,200.00	\$10.00	\$122,000.00	\$5.00	\$61,000.00	\$61,000.00
500.02	ACCESS FOR BRIDGE CONSTRUCTION	U	1.00	\$12,000,000.00	\$12,000,000.0 0	\$9,584,525.00	\$9,584,525.00	\$2,415,475.00
502.101	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$3,500,000.00	\$3,500,000.00	\$1,900,000.00	\$1,900,000.00	\$1,600,000.00
502.102	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$7,000,000.00	\$7,000,000.00	\$2,995,000.00	\$2,995,000.00	\$4,005,000.00
503.201	COFFERDAMS	U	1.00	\$500,000.00	\$500,000.00	\$285,000.00	\$285,000.00	\$215,000.00
503.202	COFFERDAMS	U	1.00	\$200,000.00	\$200,000.00	\$100,000.00	\$100,000.00	\$100,000.00



15904

				A-Bid	der	PS8	ЪЕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
503.203	COFFERDAMS	U	1.00	\$200,000.00	\$200,000.00	\$80,000.00	\$80,000.00	\$120,000.00
503.204	COFFERDAMS	U	1.00	\$350,000.00	\$350,000.00	\$100,000.00	\$100,000.00	\$250,000.00
503.301	COFFERDAMS WITH SHEETING LEFT-IN- PLACE	U	1.00	\$150,000.00	\$150,000.00	\$204,000.00	\$204,000.00	(\$54,000.00)
503.302	COFFERDAMS WITH SHEETING LEFT-IN- PLACE	U	1.00	\$400,000.00	\$400,000.00	\$256,000.00	\$256,000.00	\$144,000.00
504.1	COMMON BRIDGE EXCAVATION (F)	CY	685.00	\$100.00	\$68,500.00	\$45.00	\$30,825.00	\$37,675.00
504.2	ROCK BRIDGE EXCAVATION	CY	170.00	\$155.00	\$26,350.00	\$100.00	\$17,000.00	\$9,350.00
506.2	STEEL SHEET PILING	LB	387,100.00	\$2.50	\$967,750.00	\$2.75	\$1,064,525.00	(\$96,775.00)
508.	STRUCTURAL FILL	CY	375.00	\$60.00	\$22,500.00	\$45.00	\$16,875.00	\$5,625.00
509.1	MOBILIZATION AND DEMOBILIZATION OF DRILLED SHAFT DRILLING EQUIPMENT	U	1.00	\$750,000.00	\$750,000.00	\$300,000.00	\$300,000.00	\$450,000.00
509.2	DRILLED SHAFTS	LF	2,100.00	\$4,000.00	\$8,400,000.00	\$2,000.00	\$4,200,000.00	\$4,200,000.00
509.3	OBSTRUCTION REMOVAL	LF	105.00	\$4,750.00	\$498,750.00	\$200.00	\$21,000.00	\$477,750.00
509.4	ROCK SOCKET EXCAVATION	LF	375.00	\$4,000.00	\$1,500,000.00	\$2,500.00	\$937,500.00	\$562,500.00
509.51	CROSSHOLE SONIC LOGGING (CSL) TEST	EA	36.00	\$6,750.00	\$243,000.00	\$3,500.00	\$126,000.00	\$117,000.00
509.52	THERMAL IMAGE PROFILING (TIP) TEST	EA	6.00	\$12,800.00	\$76,800.00	\$9,000.00	\$54,000.00	\$22,800.00
509.62	DRILLED SHAFT REINFORCING STEEL	LB	425,000.00	\$3.85	\$1,636,250.00	\$2.00	\$850,000.00	\$786,250.00
510.1	PILE DRIVING EQUIPMENT	U	1.00	\$75,000.00	\$75,000.00	\$100,000.00	\$100,000.00	(\$25,000.00)
510.22	HIGH-STRAIN DYNAMIC TESTING	EA	4.00	\$4,250.00	\$17,000.00	\$5,000.00	\$20,000.00	(\$3,000.00)



15904

				A-Bidder		PS8	ξE	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
510.61	FURNISHING & DRIVING STEEL BEARING PILES	LB	613,300.00	\$2.00	\$1,226,600.00	\$2.50	\$1,533,250.00	(\$306,650.00)
510.65	DRIVING-POINTS FOR STEEL BEARING PILES	EA	72.00	\$200.00	\$14,400.00	\$200.00	\$14,400.00	\$0.00
510.9	PILE SPLICES	EA	72.00	\$2,750.00	\$198,000.00	\$300.00	\$21,600.00	\$176,400.00
520.02	CONCRETE CLASS AA, ABOVE FOOTINGS (F)	CY	1,179.00	\$1,950.00	\$2,299,050.00	\$1,200.00	\$1,414,800.00	\$884,250.00
520.02021	CONCRETE CLASS AA, RAIL SUPPORT SLAB (QC/QA) (F)	CY	330.00	\$1,200.00	\$396,000.00	\$1,200.00	\$396,000.00	\$0.00
520.021	CONCRETE CLASS AA, FOOTINGS (F)	CY	3,620.00	\$750.00	\$2,715,000.00	\$800.00	\$2,896,000.00	(\$181,000.00)
520.0302	CONCRETE CLASS AA APPROACH SLABS (QC/QA) (F)	СҮ	71.00	\$500.00	\$35,500.00	\$600.00	\$42,600.00	(\$7,100.00)
520.1	CONCRETE CLASS A	СҮ	1.00	\$5,000.00	\$5,000.00	\$1,375.00	\$1,375.00	\$3,625.00
520.12	CONCRETE CLASS A, ABOVE FOOTINGS (F)	СҮ	505.00	\$1,575.00	\$795,375.00	\$1,000.00	\$505,000.00	\$290,375.00
520.2	CONCRETE CLASS B	CY	3.00	\$1,500.00	\$4,500.00	\$685.00	\$2,055.00	\$2,445.00
520.21	CONCRETE CLASS B, FOOTINGS (F)	CY	200.00	\$750.00	\$150,000.00	\$500.00	\$100,000.00	\$50,000.00
520.6	CONCRETE CLASS T, FOUNDATION SEAL	СҮ	393.00	\$300.00	\$117,900.00	\$375.00	\$147,375.00	(\$29,475.00)
520.7002	CONCRETE BRIDGE DECK (QC/QA) (F)	СҮ	2,239.00	\$1,500.00	\$3,358,500.00	\$1,300.00	\$2,910,700.00	\$447,800.00
528.51	PRESTRESSED CONCRETE DECK PANELS (F)	SF	50,095.00	\$25.00	\$1,252,375.00	\$22.00	\$1,102,090.00	\$150,285.00
529.21	PRECAST CONCRETE SUBSTRUCTURE, PIER (STAY-IN-PLACE FORM)	CY	1,240.00	\$0.01	\$12.40	\$2,000.00	\$2,480,000.00	(\$2,479,987.60)
532.1	ANTI-GRAFFITI COATING	SF	2,090.00	\$1.10	\$2,299.00	\$2.00	\$4,180.00	(\$1,881.00)
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	447.00	\$170.00	\$75,990.00	\$100.00	\$44,700.00	\$31,290.00



15904

-				A-Bid	der	PSa	&Е	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
538.2	BARRIER MEMBRANE, PEEL AND STICK - VERTICAL SURFACES (F)	SY	50.00	\$20.00	\$1,000.00	\$70.00	\$3,500.00	(\$2,500.00)
538.6	BARRIER MEMBRANE, HEAT WELDED - MACHINE METHOD (F)	SY	5,480.00	\$31.00	\$169,880.00	\$27.00	\$147,960.00	\$21,920.00
540.201	FENDER SYSTEM	U	4.00	\$85,000.00	\$340,000.00	\$200,000.00	\$800,000.00	(\$460,000.00)
540.202	FENDER SYSTEM	U	2.00	\$80,000.00	\$160,000.00	\$130,000.00	\$260,000.00	(\$100,000.00)
541.1	PVC WATERSTOPS, NH TYPE 1 (F)	LF	140.00	\$14.00	\$1,960.00	\$10.00	\$1,400.00	\$560.00
541.2	PVC WATERSTOPS, NH TYPE 2 (F)	LF	148.00	\$16.00	\$2,368.00	\$10.00	\$1,480.00	\$888.00
544.	REINFORCING STEEL (F)	LB	9,050.00	\$2.00	\$18,100.00	\$2.00	\$18,100.00	\$0.00
544.1	REINFORCING STEEL (ROADWAY)	LB	11.00	\$2,200.00	\$24,200.00	\$2.00	\$22.00	\$24,178.00
544.2	REINFORCING STEEL, EPOXY COATED (F)	LB	1,362,840.00	\$2.00	\$2,725,680.00	\$2.50	\$3,407,100.00	(\$681,420.00)
544.23	REINFORCING STEEL-EPOXY COATED COUPLER	EA	216.00	\$200.00	\$43,200.00	\$62.00	\$13,392.00	\$29,808.00
544.7	SYNTHETIC FIBER REINFORCEMENT (F)	LB	700.00	\$23.00	\$16,100.00	\$9.00	\$6,300.00	\$9,800.00
547.1	SHEAR CONNECTORS (F)	EA	16,170.00	\$7.00	\$113,190.00	\$10.00	\$161,700.00	(\$48,510.00)
547.2	SHEAR CONNECTORS (F)	EA	905.00	\$7.00	\$6,335.00	\$10.00	\$9,050.00	(\$2,715.00)
548.21	ELASTOMERIC BEARING ASSEMBLIES (F)	EA	42.00	\$16,000.00	\$672,000.00	\$7,000.00	\$294,000.00	\$378,000.00
548.22	ELASTOMERIC BEARING ASSEMBLIES (F)	EA	6.00	\$13,000.00	\$78,000.00	\$7,000.00	\$42,000.00	\$36,000.00
550.1	STRUCTURAL STEEL (F)	LB	4,030,200.00	\$7.00	\$28,211,400.0 0	\$4.35	\$17,531,370.0 0	\$10,680,030.00



15904

				A-Bid	der	PS	ξE	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
561.2001	PREFABRICATED MODULAR BRIDGE JOINT SYSTEM (F)	LF	54.00	\$7,500.00	\$405,000.00	\$5,000.00	\$270,000.00	\$135,000.00
561.2002	PREFABRICATED MODULAR BRIDGE JOINT SYSTEM (F)	LF	54.00	\$8,750.00	\$472,500.00	\$5,000.00	\$270,000.00	\$202,500.00
562.1	SILICONE JOINT SEALANT (F)	LF	180.00	\$35.00	\$6,300.00	\$25.00	\$4,500.00	\$1,800.00
563.24	BRIDGE RAIL T4	LF	2,989.00	\$575.00	\$1,718,675.00	\$350.00	\$1,046,150.00	\$672,525.00
563.243	BRIDGE RAIL T4 WITH SNOW SCREENING	LF	221.00	\$850.00	\$187,850.00	\$400.00	\$88,400.00	\$99,450.00
564.1	BRIDGE LIGHTING SYSTEM	U	1.00	\$110,000.00	\$110,000.00	\$3,700.00	\$3,700.00	\$106,300.00
564.4	BRIDGE NAVIGATION LIGHTS	U	1.00	\$130,000.00	\$130,000.00	\$70,000.00	\$70,000.00	\$60,000.00
565.242	BRIDGE APPROACH RAIL T4 (STEEL POSTS)	U	4.00	\$22,000.00	\$88,000.00	\$12,500.00	\$50,000.00	\$38,000.00
583.5	RIPRAP, CLASS V	CY	2,540.00	\$170.00	\$431,800.00	\$75.00	\$190,500.00	\$241,300.00
583.9	RIPRAP, CLASS IX	CY	8,070.00	\$0.01	\$80.70	\$95.00	\$766,650.00	(\$766,569.30)
585.3	STONE FILL, CLASS C	CY	8.00	\$115.00	\$920.00	\$75.00	\$600.00	\$320.00
593.211	GEOTEXTILE; SEPARATION CL.1, NON-WOVEN	SY	1,300.00	\$3.00	\$3,900.00	\$5.00	\$6,500.00	(\$2,600.00)
593.411	GEOTEXTILE; PERM CONTROL CL.1, NON- WOVEN	SY	2,590.00	\$4.00	\$10,360.00	\$5.00	\$12,950.00	(\$2,590.00)
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON- WOVEN	SY	1,100.00	\$3.50	\$3,850.00	\$4.00	\$4,400.00	(\$550.00)
603.0001	VIDEO INSPECTION	LF	1,900.00	\$2.00	\$3,800.00	\$4.00	\$7,600.00	(\$3,800.00)
603.00212	12" R.C. PIPE, 2000D	LF	5.00	\$400.00	\$2,000.00	\$67.00	\$335.00	\$1,665.00
603.00215	15" R.C. PIPE, 2000D	LF	260.00	\$150.00	\$39,000.00	\$75.00	\$19,500.00	\$19,500.00



15904

				A-Bide	der	PS&	λE	
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
603.25112	12" STEEL PIPE SLEEVE (0.250")	LF	249.00	\$70.00	\$17,430.00	\$100.00	\$24,900.00	(\$7,470.00)
603.25124	24" STEEL PIPE SLEEVE (0.250")	LF	115.00	\$300.00	\$34,500.00	\$150.00	\$17,250.00	\$17,250.00
603.33215	15" CORR. POLYETHYLENE END SECTION	EA	1.00	\$400.00	\$400.00	\$327.00	\$327.00	\$73.00
603.33218	18" CORR. POLYETHYLENE END SECTION	EA	1.00	\$475.00	\$475.00	\$500.00	\$500.00	(\$25.00)
603.8051	UNDERGROUND INFILTRATION SYSTEM	U	1.00	\$200,000.00	\$200,000.00	\$64,000.00	\$64,000.00	\$136,000.00
603.82212	12" PE PIPE (TYPE S)	LF	25.00	\$70.00	\$1,750.00	\$60.00	\$1,500.00	\$250.00
603.82215	15" PE PIPE (TYPE S)	LF	920.00	\$60.00	\$55,200.00	\$65.00	\$59,800.00	(\$4,600.00)
603.82218	18" PE PIPE (TYPE S)	LF	490.00	\$75.00	\$36,750.00	\$80.00	\$39,200.00	(\$2,450.00)
603.82224	24" PE PIPE (TYPE S)	LF	10.00	\$550.00	\$5,500.00	\$156.00	\$1,560.00	\$3,940.00
604.0007	POLYETHYLENE LINER	EA	15.00	\$155.00	\$2,325.00	\$220.00	\$3,300.00	(\$975.00)
604.124	CATCH BASINS TYPE B, 4-FOOT DIAMETER	U	16.00	\$4,500.00	\$72,000.00	\$2,890.00	\$46,240.00	\$25,760.00
604.324	DRAINAGE MANHOLES, 4-FOOT DIAMETER	U	3.00	\$4,500.00	\$13,500.00	\$3,000.00	\$9,000.00	\$4,500.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	2.00	\$650.00	\$1,300.00	\$510.00	\$1,020.00	\$280.00
604.51	RECONSTRUCTING/ADJUSTING SEWER MANHOLES	LF	9.00	\$800.00	\$7,200.00	\$750.00	\$6,750.00	\$450.00
604.9101	OUTLET CONTROL STRUCTURE	U	1.00	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$2,000.00
604.9102	OUTLET CONTROL STRUCTURE	U	1.00	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$2,000.00
604.9103	OUTLET CONTROL STRUCTURE	U	1.00	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$2,000.00



15904

				A-Bid	der	PS&	λE	
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
604.9104	OUTLET CONTROL STRUCTURE	U	1.00	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$2,000.00
606.12551	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2 - 25') (STEEL POST)	U	4.00	\$5,100.00	\$20,400.00	\$3,530.00	\$14,120.00	\$6,280.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	175.00	\$48.00	\$8,400.00	\$28.00	\$4,900.00	\$3,500.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	3,350.00	\$94.00	\$314,900.00	\$33.00	\$110,550.00	\$204,350.00
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	750.00	\$115.00	\$86,250.00	\$64.00	\$48,000.00	\$38,250.00
606.93	TEMPORARY BEAM GUARDRAIL	LF	150.00	\$48.00	\$7,200.00	\$32.00	\$4,800.00	\$2,400.00
606.93255	TEMPORARY BEAM GUARDRAIL (TERMINAL UNIT EAGRT, TL-2) (STEEL POSTS)	U	2.00	\$5,100.00	\$10,200.00	\$4,000.00	\$8,000.00	\$2,200.00
606.9512	TEMP. IMPACT ATTENUATION DEVICE (REDIRECTIVE), TEST LEVEL 2	U	2.00	\$6,900.00	\$13,800.00	\$7,500.00	\$15,000.00	(\$1,200.00)
606.9522	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 2	U	3.00	\$4,100.00	\$12,300.00	\$3,500.00	\$10,500.00	\$1,800.00
607.9840	RESETTING MISCELLANEOUS FENCE TYPES, 4' HIGH	LF	330.00	\$45.00	\$14,850.00	\$70.00	\$23,100.00	(\$8,250.00)
608.24	4" CONCRETE SIDEWALK (F)	SY	1,400.00	\$68.00	\$95,200.00	\$67.00	\$93,800.00	\$1,400.00
608.36	6" REINFORCED CONCRETE SIDEWALK (F)	SY	320.00	\$85.00	\$27,200.00	\$96.00	\$30,720.00	(\$3,520.00)
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	20.00	\$110.00	\$2,200.00	\$450.00	\$9,000.00	(\$6,800.00)
609.01	STRAIGHT GRANITE CURB	LF	2,250.00	\$50.00	\$112,500.00	\$49.00	\$110,250.00	\$2,250.00
609.216	STRAIGHT GRANITE SLOPE CURB 6" HIGH	LF	175.00	\$50.00	\$8,750.00	\$27.00	\$4,725.00	\$4,025.00
609.5	RESET GRANITE CURB	LF	920.00	\$25.00	\$23,000.00	\$19.00	\$17,480.00	\$5,520.00



15904

				A-Bide	der	PS8	£Е	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
611.05208	8" CEMENT LINED DUCTILE IRON WATER PIPE, CL 52	LF	115.00	\$200.00	\$23,000.00	\$140.00	\$16,100.00	\$6,900.00
611.05212	12" CEMENT LINED DUCTILE IRON WATER PIPE, CL 52	LF	630.00	\$230.00	\$144,900.00	\$180.00	\$113,400.00	\$31,500.00
611.41502	STEEL CASING PIPE WITH 8" DI CARRIER PIPE	LF	55.00	\$200.00	\$11,000.00	\$165.00	\$9,075.00	\$1,925.00
611.43914	12" SUPPORTED CEMENT LINED DI WATER PIPE (DI-MJ), INSULATED	LF	1,430.00	\$410.00	\$586,300.00	\$590.00	\$843,700.00	(\$257,400.00)
611.51020	2" CORPORATION STOP	EA	2.00	\$1,245.00	\$2,490.00	\$350.00	\$700.00	\$1,790.00
611.52010	1" CURB STOP WITH BOX	EA	1.00	\$1,070.00	\$1,070.00	\$450.00	\$450.00	\$620.00
611.52020	2" CURB STOP WITH BOX	EA	1.00	\$1,615.00	\$1,615.00	\$500.00	\$500.00	\$1,115.00
611.55010	1" PE SERVICE PIPE	LF	6.00	\$350.00	\$2,100.00	\$50.00	\$300.00	\$1,800.00
611.55020	2" PE SERVICE PIPE	LF	460.00	\$48.00	\$22,080.00	\$20.00	\$9,200.00	\$12,880.00
611.70008	8" FITTING	EA	7.00	\$1,190.00	\$8,330.00	\$760.00	\$5,320.00	\$3,010.00
611.70012	12" FITTING	EA	10.00	\$1,250.00	\$12,500.00	\$1,400.00	\$14,000.00	(\$1,500.00)
611.70404	4" LINESTOP	EA	1.00	\$9,220.00	\$9,220.00	\$5,000.00	\$5,000.00	\$4,220.00
611.70408	8" LINESTOP	EA	3.00	\$11,500.00	\$34,500.00	\$5,000.00	\$15,000.00	\$19,500.00
611.70412	12" LINESTOP	EA	1.00	\$27,500.00	\$27,500.00	\$14,000.00	\$14,000.00	\$13,500.00
611.71006	6" GATE VALVE WITH BOX	EA	2.00	\$2,200.00	\$4,400.00	\$1,400.00	\$2,800.00	\$1,600.00
611.71008	8" GATE VALVE WITH BOX	EA	5.00	\$2,400.00	\$12,000.00	\$2,400.00	\$12,000.00	\$0.00
611.71012	12" GATE VALVE WITH BOX	EA	1.00	\$5,030.00	\$5,030.00	\$3,600.00	\$3,600.00	\$1,430.00



15904

				A-Bid	der	PS&	Е	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
611.71112	12" TAPPING SLEEVE & VALVE WITH BOX	EA	1.00	\$11,900.00	\$11,900.00	\$8,050.00	\$8,050.00	\$3,850.00
611.73008	8" COUPLING	EA	1.00	\$1,700.00	\$1,700.00	\$530.00	\$530.00	\$1,170.00
611.73312	12" EXPANSION JOINT	EA	2.00	\$20,500.00	\$41,000.00	\$1,300.00	\$2,600.00	\$38,400.00
611.74206	8" X 6" REDUCER	EA	1.00	\$1,040.00	\$1,040.00	\$750.00	\$750.00	\$290.00
611.74408	12" X 8" REDUCER	EA	2.00	\$1,350.00	\$2,700.00	\$1,000.00	\$2,000.00	\$700.00
611.75	AIR RELEASE VALVE WITH VAULT	EA	1.00	\$3,250.00	\$3,250.00	\$2,100.00	\$2,100.00	\$1,150.00
611.78108	8" FLOW METER WITH VAULT	U	1.00	\$26,300.00	\$26,300.00	\$28,000.00	\$28,000.00	(\$1,700.00)
611.78302	2" METER PIT	U	1.00	\$4,700.00	\$4,700.00	\$9,340.00	\$9,340.00	(\$4,640.00)
611.81	HYDRANT	EA	2.00	\$8,400.00	\$16,800.00	\$4,580.00	\$9,160.00	\$7,640.00
611.814	REMOVE HYDRANT	EA	1.00	\$4,030.00	\$4,030.00	\$1,250.00	\$1,250.00	\$2,780.00
614.16218	6" 2-DUCT PVC CONDUIT, SCHEDULE 80, CONCRETE ENCASED	LF	270.00	\$220.00	\$59,400.00	\$438.30	\$118,341.00	(\$58,941.00)
614.16918	6" 9-DUCT PVC CONDUIT, SCHEDULE 80, CONCRETE ENCASED	LF	732.00	\$440.00	\$322,080.00	\$624.70	\$457,280.40	(\$135,200.40)
614.2229	2" 2-DUCT FIBERGLASS CONDUIT (BRIDGE)	LF	635.00	\$130.00	\$82,550.00	\$45.00	\$28,575.00	\$53,975.00
614.2419	4" FIBERGLASS CONDUIT (BRIDGE)	LF	1,304.00	\$88.00	\$114,752.00	\$60.00	\$78,240.00	\$36,512.00
614.2699	6" 9-DUCT FIBERGLASS CONDUIT (BRIDGE)	LF	1,310.00	\$800.00	\$1,048,000.00	\$395.48	\$518,078.80	\$529,921.20
614.522	MOLDED PULL BOX 13"X24"	EA	2.00	\$1,140.00	\$2,280.00	\$750.00	\$1,500.00	\$780.00



15904

				A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
614.523	MOLDED PULL BOX 17"X30"	EA	5.00	\$1,200.00	\$6,000.00	\$860.00	\$4,300.00	\$1,700.00
614.59	ELECTRIC VAULT	U	2.00	\$18,000.00	\$36,000.00	\$25,663.50	\$51,327.00	(\$15,327.00)
614.72114	2" PVC CONDUIT, SCHEDULE 40	LF	1,170.00	\$53.00	\$62,010.00	\$20.00	\$23,400.00	\$38,610.00
614.73114	3" PVC CONDUIT, SCHEDULE 40	LF	730.00	\$63.00	\$45,990.00	\$30.00	\$21,900.00	\$24,090.00
614.74118	4" PVC CONDUIT, SCHEDULE 80	LF	263.00	\$70.00	\$18,410.00	\$30.00	\$7,890.00	\$10,520.00
614.76114	6" PVC CONDUIT, SCHEDULE 40	LF	60.00	\$92.00	\$5,520.00	\$40.00	\$2,400.00	\$3,120.00
615.0301	TRAFFIC SIGN TYPE C	SF	122.00	\$122.00	\$14,884.00	\$62.00	\$7,564.00	\$7,320.00
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	61.00	\$53.00	\$3,233.00	\$64.00	\$3,904.00	(\$671.00)
615.034	RELOCATING TRAFFIC SIGN, TYPE C	U	12.00	\$364.00	\$4,368.00	\$200.00	\$2,400.00	\$1,968.00
615.0601	TRAFFIC SIGN TYPE CC	SF	42.00	\$22.00	\$924.00	\$30.00	\$1,260.00	(\$336.00)
615.30691	BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE (MODIFIED)	U	4.00	\$1,325.00	\$5,300.00	\$4,800.00	\$19,200.00	(\$13,900.00)
616.972	CLASSIFICATION EQUIPMENT WITH SOLAR	U	1.00	\$26,500.00	\$26,500.00	\$70,000.00	\$70,000.00	(\$43,500.00)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$0.00
618.7	FLAGGERS	HR	2,000.00	\$55.00	\$110,000.00	\$35.00	\$70,000.00	\$40,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$250,000.00	\$250,000.00	\$241,488.00	\$241,488.00	\$8,512.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$990.00	\$3,960.00	\$5,500.00	\$22,000.00	(\$18,040.00)
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	10.00	\$330.00	\$3,300.00	\$6.00	\$60.00	\$3,240.00



15904

				A-Bidder		PS&E		
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
621.31	SINGLE DELINEATOR WITH POST	EA	2.00	\$145.00	\$290.00	\$52.00	\$104.00	\$186.00
621.32	DOUBLE DELINEATOR WITH POST	EA	2.00	\$145.00	\$290.00	\$54.00	\$108.00	\$182.00
622.1	STEEL WITNESS MARKERS	EA	7.00	\$77.00	\$539.00	\$40.00	\$280.00	\$259.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	2,550.00	\$3.30	\$8,415.00	\$4.00	\$10,200.00	(\$1,785.00)
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	44,500.00	\$0.40	\$17,800.00	\$0.50	\$22,250.00	(\$4,450.00)
632.0112	RETROREFLECTIVE PAINT PAVE. MARKING, 12" LINE	LF	115.00	\$3.25	\$373.75	\$1.00	\$115.00	\$258.75
632.02	RETROREFLECTIVE PAINT PAVEMENT MARKING, SYMBOL OR WORD	SF	504.00	\$14.00	\$7,056.00	\$3.00	\$1,512.00	\$5,544.00
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	55.00	\$5.00	\$275.00	\$5.00	\$275.00	\$0.00
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	270.00	\$5.00	\$1,350.00	\$3.00	\$810.00	\$540.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	50.00	\$13.25	\$662.50	\$11.50	\$575.00	\$87.50
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	555.00	\$17.00	\$9,435.00	\$13.00	\$7,215.00	\$2,220.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	25,060.00	\$1.00	\$25,060.00	\$1.00	\$25,060.00	\$0.00
645.119	MULCH WITH TACKIFIERS	A	1.00	\$2,200.00	\$2,200.00	\$1,465.00	\$1,465.00	\$735.00
645.3	EROSION STONE	TON	150.00	\$65.00	\$9,750.00	\$35.00	\$5,250.00	\$4,500.00
645.44	TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY)	SY	2,000.00	\$3.30	\$6,600.00	\$3.00	\$6,000.00	\$600.00



15904

				A-Bidder		PS&E		
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	3,300.00	\$8.00	\$26,400.00	\$6.00	\$19,800.00	\$6,600.00
645.52	RYEGRASS FOR TEMPORARY EROSION CONTROL	LB	50.00	\$5.00	\$250.00	\$5.00	\$250.00	\$0.00
645.531	SILT FENCE	LF	3,300.00	\$8.00	\$26,400.00	\$4.00	\$13,200.00	\$13,200.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00	(\$2,000.00)
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	1,500.00	\$160.00	\$240,000.00	\$90.00	\$135,000.00	\$105,000.00
645.72	FINAL WETLAND IMPACT REPORT	U	1.00	\$4,000.00	\$4,000.00	\$4,500.00	\$4,500.00	(\$500.00)
646.2	TURF ESTABLISHMENT WITHOUT MULCH	А	1.00	\$4,000.00	\$4,000.00	\$2,600.00	\$2,600.00	\$1,400.00
647.1	HUMUS	CY	450.00	\$66.00	\$29,700.00	\$20.00	\$9,000.00	\$20,700.00
650.99	BEACH GRASS PLANTINGS	EA	44,600.00	\$8.00	\$356,800.00	\$2.50	\$111,500.00	\$245,300.00
661.001	INTERPRETIVE SIGN	EA	3.00	\$8,300.00	\$24,900.00	\$6,500.00	\$19,500.00	\$5,400.00
661.012	MOUNTING OF EXISTING PLAQUE	EA	1.00	\$2,000.00	\$2,000.00	\$1,600.00	\$1,600.00	\$400.00
670.104	TEMPORARY PORTABLE LIGHTING	U	4.00	\$11,000.00	\$44,000.00	\$4,500.00	\$18,000.00	\$26,000.00
670.2811	NAVIGATIONAL CLEARANCE GAUGE	U	2.00	\$8,500.00	\$17,000.00	\$15,000.00	\$30,000.00	(\$13,000.00)
670.95	TEMPORARY SAFETY FENCE	LF	150.00	\$50.00	\$7,500.00	\$4.00	\$600.00	\$6,900.00
677.3101	WIRELESS COMMUNICATIONS EQUIPMENT	U	1.00	\$99,100.00	\$99,100.00	\$15,000.00	\$15,000.00	\$84,100.00
677.41001	CLOSED CIRCUIT TELEVISION (CCTV) SYSTEM FOUNDATION	U	1.00	\$52,000.00	\$52,000.00	\$45,000.00	\$45,000.00	\$7,000.00



15904

	Description			A-Bidder		PS		
Item No.		Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
677.4101	CCTV SYSTEM	U	1.00	\$155,000.00	\$155,000.00	\$80,000.00	\$80,000.00	\$75,000.00
677.4102	CCTV SYSTEM	U	1.00	\$52,000.00	\$52,000.00	\$23,575.00	\$23,575.00	\$28,425.00
677.51006	6-STRAND SINGLE MODE FIBER OPTIC CABLE	LF	1,210.00	\$24.00	\$29,040.00	\$4.00	\$4,840.00	\$24,200.00
677.53	FIBER OPTIC SPLICE	EA	4.00	\$525.00	\$2,100.00	\$110.00	\$440.00	\$1,660.00
677.54201	POLE MOUNTED ITS EQUIPMENT CABINET	U	1.00	\$13,200.00	\$13,200.00	\$12,500.00	\$12,500.00	\$700.00
677.561	FIBER OPTIC PATCH PANEL (12-POSITION)	EA	1.00	\$875.00	\$875.00	\$1,500.00	\$1,500.00	(\$625.00)
677.5822	1 GBPS FIBER ETHERNET SWITCH	EA	1.00	\$14,400.00	\$14,400.00	\$4,700.00	\$4,700.00	\$9,700.00
677.6301	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,800.00	\$3,800.00	\$5,785.00	\$5,785.00	(\$1,985.00)
677.64	UNINTERRUPTIBLE POWER SUPPLY (UPS)	EA	1.00	\$11,400.00	\$11,400.00	\$8,700.00	\$8,700.00	\$2,700.00
677.9302	3-CONDUCTOR #2 AWG CABLE	LF	915.00	\$23.00	\$21,045.00	\$11.00	\$10,065.00	\$10,980.00
677.9308	3-CONDUCTOR #8 AWG CABLE	LF	1,210.00	\$17.00	\$20,570.00	\$7.00	\$8,470.00	\$12,100.00
692.	MOBILIZATION	U	1.00	\$9,000,000.00	\$9,000,000.00	\$5,500,000.00	\$5,500,000.00	\$3,500,000.00
693.	ON-THE-JOB TRAINING OF UNSKILLED WORKERS	\$	3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$0.00
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$2,500.00	\$2,500.00	\$1,700.00	\$1,700.00	\$800.00
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$15,000.00	\$15,000.00	\$3,250.00	\$3,250.00	\$11,750.00
697.41	CRITICAL PATH METHOD (CPM) ELECTRONIC SCHEDULE	U	1.00	\$10,000.00	\$10,000.00	\$5,590.00	\$5,590.00	\$4,410.00
698.11	FIELD OFFICE TYPE A	MON	50.00	\$4,850.00	\$242,500.00	\$5,000.00	\$250,000.00	(\$7,500.00)



15904

X-A001(026)

				A-Bidder		PS&E			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference	
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00	\$0.00	
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00	
1008.421	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY GAS SERVICE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00	
1010.01	STEEL COST ADJUSTMENT	\$	800,000.00	\$1.00	\$800,000.00	\$1.00	\$800,000.00	\$0.00	
1010.15	FUEL ADJUSTMENT	\$	250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00	\$0.00	
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00	
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	10,500.00	\$1.00	\$10,500.00	\$1.00	\$10,500.00	\$0.00	
1010.41	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) FOR CONCRETE	\$	250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00	\$0.00	

Total:

\$107,559,567.35

\$31,186,168.65

\$76,373,398.70